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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The responsibility of the organization to the workers includes :
(1) The payment of fair wages
(1) Arrangement of proper training and education of the workers
(iii)) The installation of an efficient grievance handling system
(iv) Welfare of family members
(v) The provision of the best possible working conditions
Identify the correct combination :
(A) (), (i1), (iii) and (v) (B) (i), (iii), (iv) and (V)
(C) (1), (i), (iii) and (iv) (D) (), (iii), (iv) and (v)

2. Match the items of List — I with List — II :

List - 1 - uistfon
a.  Industries Development Regulation A
b.  Import and Export Control Act
c.  Foreign Exchange Management Act iii. 195 1 /
d.  Factories Act 44
Identify the correct combination :
Codes :

a b c d
(A) i i iv i
(B) iii i n o iv
(C) iii i iv il
(D) it v il i

3. Which among the following is not a correct sequential combination ?

(A) Macro Environment — Economic Environment — National Income — Pattern of
Income Distribution

(B) Business Environment — Internal Environment — Business Ethics — Payment of
Fair Wages

(C) Business Environment — External Environment — Micro Environment —
Suppliers

(D) Macro Environment — External Environment — Customers — Prospects of
Business Development
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4.  Which among the following is not a correct combination ?
(A) Industrial Policy — 1948
(B) Industrial Policy Statement — 1977
(C) Industrial Policy Statement — 1980
(D) Industrial Policy Statement — 1991

5.  Statement — I : The industrial policy of the Government of India is aimed at increasing
the tempo of industrial development.

Statement — II : After the New Industrial Policy — 1991, the Balance of Trade for India
has always been positive.

Codes :
(A) Statement (I) is correct, but (II) is incorrect.
(B) Statement (II) is correct, but (I) is incorrect.
(C) Both Statements (I) and (II) are correct.
(D) Both Statements (I) and (II) are incorrect.
[ wr
6.  Current Ratio 2.5, Liquid Ratio 1.5 and Working Capita_lig()',rOOO. What is Current Assets ?

(A) 60,000 (B) 80,000
(C) < 1,00,000 (D) < 1,20,000

7. X, Y, Z are sharing profits in the ratio of 6 : 5 : 3. A is admitted into partnership for 1/8"
share. The sacrificing ratio of X, Y and Z is

(A) Equal B) 6:5:3
(C) 5/14,4/14,5/14 D) 4:5:5

8.  Accounting information given by a company :

Total assets turnover 3 times
Net profit margin 10%
Total assets % 1,00,000

The net profit is
(A) 10,000 (B) % 15,000
(C) 25,000 (D) 30,000
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4. frfafea o 9 o9 a1 @@ gE @i 2
(A) AT AT — 1948
(B) 3frenfiTes i &oF — 1977
(C)  3frenfiTes AT %o — 1980
(D)  3fiEfTes AT & — 1991

5. ®UT -1 : YRd TR i AT it 1 A8, e [aehra =i id i d@m T € |
FHAA - I1 : 75 ST i — 1991 & a1 TRA Sl AR FIo ST FHRIEE T 8 |
T
(A) = (1) T &, At (1) Tod & |
(B) T (1) Wl &, wAfeh (I) Tor & |
(C) = (I) 3R (1) I el € |

(D) e (1) 3T (1) SH1 TeAd & |

6. TG U 2.5, Tt 3T 1.5 3R Hreier gsit T 60,000 €, dF =] Furd &= € 2
(A) 60,000 (B) 80,000
(C) % 1,00,000 (D) % 1,20,000

7. X, Y,Z,6:5:3% 30T H o & AEER & | A /89 377 B IRIGRT H§ w0iHet g3 1 X, Y

3T Z 1 0T ST 9 ¢ 2
(A) ST (B) 6:5:3
(C) 5/14, 4/14,5/14 D) 4:5:5

8. U Ul gRT & T ohal Yo

el gufa 3T 3T

5 AT G 10%

gkl % 1,00,000
Tohed o &
(A) 10,000 (B) ¥ 15,000
(C) 25,000 (D) 30,000
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10.

11.

12.

13.

<% _c-j quiti#e‘ ross Elasticity 1il.
f d.  Negative %Elasticity iv.

“Make sufficient provisions for future losses, but do not anticipate future profits.” This
statement is in accordance to the concept of :

(A) Matching

(C) Conservatism

(B) Objectivity
(D) Materiality

When a firm is dissolved, profit or loss on realisation is shared by the partners

(A) Equal

(B) In the ratio of their capital balances

(C) In the profit sharing ratio

(D) In the ratio laid down in Garner Vs. Murray

The inverse relationship between variations in the price and quantity demanded is not due

to
(A) Income Effects
(C) Future Expectations

(B) Substitution Effects
(D) Law of Diminishing Marginal Utility

Consumer is said to be in equilibrium, maximizing his total utility, when

(A) the marginal utilities of the two goods consumed are equal.

(B) the proportions of the marginal utilities and respective prices are equal.

(C) the consumer gets full satisfaction from the consumption.

(D) the consumer feels satisfied with his expenditure on the various goods.

Match the items of the following two lists and suggest the correct code :

List — 1< : '{l
-
a.  Zero Income Elasticity i

b.  Unit Cross Elasticity i,

Choose the correct option :

Codes :
a b C d
(A) iii ii i iv

B) i i iv i
©) i iv i i

D) iv i i i

List - IT
Substitute goods
Complementary goods
Indifferent goods
Independent goods
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9. “qig H FMA & foTT AT WEE @ A i o ol ST Qaigae 7 & 1”7 I8 2T 6
TR TR TN & 2
(A) oo (B) SEFAH
(C) wfgared (D) iifcepan
10. UH ®Y & foraed g W YRTERT §RT T 37201 g1 o SeaRT fohd STurd | & € 2
(A) =T
(B) 3Tk YTt Weer o AT
(C) oMY dfe & 3FuTd o
(D) TR 9 Y A€ | JaIT ¢ S |
11. 9o 3R =T 1 91 H e & s SJohy Tay fhgeh HRoT T8 & 2
(A) T g (B) wiferemo werre
(C) el wemem (D) Wi ST BT 1w
12,  SYHIERT 7Y YUT SUATAT BT ST AT I S § A STeeT § &l &, ST
(A) SR I TE I ST T THAIT SYAAT TAE € |
(B) T IUAMTAT 31X WTUfeTsh Yo i U THH ¢ |
(C) USRI SUHIT F Yo7 Tfee I ¢ |
(D) TR fafi=T et W 30 T 9 S Hegd B € |
13. Tr=fetEd 3t gieat &t A7:i o GAferd Y 31T T&l F 1 =T97 A
ﬂ\%ﬁ—l“'h.;}\ et - 11
a. I I ( 1: i wfqentd ey
S ) i A
<o) THRHSIGES A iii. e AR
(d. W%ﬁ? iv. T Il
e Tl T TR |

E T

a b c d
(A) i il i iv
B) i i iv i
(C) iii v i ii

D) iv i i iii
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14. Statement (A) : The isoquant curves are drawn convex to the origin due to diminishing
technical rate of substitution.

Statement (B) : The lesser the convexity of the isoquant curve the greater the possibility
of the complementarity of the two inputs.

Codes :

(A) Statements (A) and (B) both are correct.

(B) Statement (A) is correct but (B) is incorrect.
(C) Statement (A) is incorrect but (B) is correct.

(D) Statements (A) and (B) both are incorrect.

15. Match the items of the List — I with those of List — II and suggest the correct code :
List— 1 List-i g ¥ °
a.  Constant average cost over a 1. Econgmic cap‘cﬁy’ %
range of output r
” )

serve capacity

b.  Average cost becomes constant
momentarily

Prdduction and Managerials
costsgtfects

c.  Normal average cost is a
U-shaped curve

L-shaped
Codes :
a b C d

d. Modern Long-run average cost*is 1v. Ecor?ﬁies Ad Diseconomies

i

(A) i i i v
B) i1 1 v i
© i v il i

D) i i iv il

16. Which one of the following is not probability sampling method ?
(A) Simple Random Sampling (B) Cluster Sampling
(C) Judgemental Sampling (D) Systematic Sampling

17. The research carried out to expand the knowledge of a particular field is known as
(A) Applied research (B) Qualitative research

(C) Quantitative research (D) Basic research

www.examrace.com



14. HAUF (A) : YT T TH-IH! T 3T o HRIT GHCT a5h ST T 3T Gid ST € |
FHUF (B) : THICIS a5k bl ST bl B, JT AN hi HFTIAT I GHIEAT T Telel Hell |
E T
(A) o (A) 3T (B) I T |
(B) T (A) Wl € ol (B) Tk © |

(C) o (A) TeAd & ifehT (B) Wl € |
(D) e (A) AR (B) ST ToAd & |

15. e — 1! BT Bt gt — 11 o T1eF GAferd Y 3R el e BT =27 B
e -1
a.  SOURA S W W FER H\d
b. 3 AN & w9 ¥ feR g S |

C. T AT T U-3AThR Waﬁ% |

o o (a
d. Slglen qldenlellq Al lfid L-3TThR

E T

a b c d
(A) i i il v
B) i i ivd
(©) i v i i

D) i i iv iii

16. TAfafEd § T Si9 9T Aidaest Yo & & 2
(A) T ATG e Ui (B) THE Uld=et
(C) THuTeTcA wfasst (D) geFarer ufaser

17. 30y, T & foie & A 6 gfg Y T T §, e &
(A) SEEIRE Iy (B) OIS ¥
(C) uRHAIHS 9Me (D) o1 oy
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18.

19.

20.

21.

22,

23.

In univariate data analysis t-test is used when the data are in the form of
(A) Metric data with one sample

(B) Non-metric data

(C) Non-metric data with independent variable

(D) Metric data with independent two sample

To show the trend for a variable, which one of the presentation method is used ?
(A) Histogram (B) Frequency polygon
(C) Line graph (D) Scatter graph

Which one of the following objectives is not the objective of secondary data collection ?
(A) Identify the problem

(B) Test the hypotheses of the relevant present problem

(C) Better define the problem

(D) Interpret primary data more insightfully

The structure of an organisation in which there is separation of ownership and
management is called

(A) Sole proprietorship (B) Partnership
(C) Company (D) Cooperative society

When a person transacts with a company on matters which is beyond the power of the
company, the person will be governed by the Doctrine of

(A) Management by Exception (B) Constructive Notice
(C) Indoor Management (D) Self Management

Assertion (A) : MBO is effective way of planning and organizing the work.
Reason (R) : Employees participate in setting the objectives.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is correct.
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18. UH =X 3iieheT foveiunr | (-2 Uger &ial &, Sid Siehgl & €7 &l
(A) U WiaEeT o QI A 3iehe
(B) MR SATHE
(C) T =X % Q1Y 3 ke
(D) S TocH Wicesl o Qe A g

19. UTH = FH Ugha M & foTT i Gt TfTehior Tgid T Sl St € 2

(A) feemm (B) gqs g
(C) ¥E™ R (D) forawr 33T U

20. ARG IqeRAT H § DI 9 G SAThel TUe0T H I5e3d Tol ¢ ?
(A) THET H TEHH B
(B) SIH Heifd THET <l FeheaT h TRIET0T
(C) =T ! 31 ¥ AR FHEAT
(D) oTcatys ey gite & WTfHes 3ifehgl i Herem

21. Todr Gied i EEAT § @i 31 Yeye | foaese fohar ST, SHeamn @ :
(A) Uehel W (B) WERRI
(C) Hu (D) WEHR! |Hd

22. <9 U AT Bl oAl §, ST ATUHR &7 & 96T, AH-57 Bl €, df 98 At 6 [Faid grT
Taferd g 2
(A) TS ERT TeY (B) TEATHE G
(C) AN Tae (D) E ueEA

23. AfWEHUT (A) : TR, B & (I T TS & T9E alih ¢ |
HROT (R) : 333941 1 (iR et § HHAIRET Bt FEIiTem gt & |
E T
(A) (A) 3R (R) I W |
(B) (A) 31T (R) I Totd € |
(C) (A) T & AT (R) ToId & |
(D) (A)7TeTd & Sifeh (R) el ¢ |
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24. The appropriate sequence of the formation of a company are in the following order :
(A) Promotion, commencement of business and incorporation
(B) Promotion, incorporation, capital subscription and commencement of business
(C) Capital subscription, promotion, incorporation and commencement of business

(D) Incorporation, capital subscription, commencement of business and promotion

25. Delegation of authority makes the size of the organization :
(A) Smaller organization
(B) Larger organization
(C) Very big organization

(D) It does not affect the size of the organization

26. Managerial Grid suggests the following as the best leader behaviour :
(A) High structure and high consideration
(B) Low structure and low consideration
(C) High concern both for production and people

(D) Low concern both for production and people

27. Marketing strategy development is also known as
(A) Marketing Control (B) Marketing Exercise
(C) Marketing Planning (D) Situation Analysis

28. For most people, the purchase of cheese for daily use can be described as a
(A) Completely novel buy (B) Modified re-buy
(C) Routine re-buy (D) High involvement product

29. The promotion mix of a company consists of these —
(A) Marketing communication, promotion decisions
(B) Personal selling, product objectives
(C) Advertising, personal selling, sales promotion , publicity and public relations

(D) Consumer psychology, buyers motives, brand equity
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24.

25.

26.

27.

28.

29.

Tk ST & fmTor 1 Sfad s fefatea § 9 S @ 2
(A) Y, SR R HAT T THHAT

(B) V&, GHMEGEH, YSTt MEH 31T IR 3RS T

(C) YTt MRH, MardH, T 31T SR STRET T

(D) THMTH, YsTt EH, SR 3T AT, HeleH

ARISHRT HT HRTIUT, HIS &l TR ST &
(A) BT G

(B) ST &

(C) =&d &gl |

(D) IE T & 3R T WAITe el Hia

FIIE AT FIER & T H FEcIRad 1 Geid Teghd U 3T €

(A) ST T 3R 3o UaFed

(B) T 2 3K fr=r ufawe
(C) 3R X =T ST % T ST B
(D) SR 3R =afed ST o ferg e e

ferqu =ecaT o, fhg A @ off ST ST € 2
(A)  fomor fezo (B) foqum s
(C) Tauom e (D) uRfEq fagermor

TR T % foTT TSTAT TN & TR 1 BRI i fFT €T | @I ST GehelT & 2

(A) T TE § T @ (B) uRwpd GERIT
(C) TSTRT ! JAERIT (D) =9 HfeT 38

T U1 o T e o6 G0 T B &

(A) Tauum F=R, Has HoiaA

(B) cAfKITA Toshl, 3cUTE 33399

(C) fasmu=, =afeamd fosht 3R fosha Tas, 199U 3] 54 Fay

(D) USRI FAISRTH, BRIGRT 1 3399, FUE St

www.examrace.com



30. Rational buying motives that determine purchase decisions are mostly based on

(A)

Price factor

(C)  Quality of product

(B) Psychological factors
(D) Advertisement

31. Statement — I : Capital structure refers to composition of long-term funds.

Statement — II : These include equity share capital, preference share capital, debentures,

(A)
(B)
©
D)

all debts and all reserves.
Both Statements I and II are correct.

Statement I is correct but Statement II is incorrect.

Statement I is incorrect but Statement Il is correct.

Both statements are incorrect.

32. Match the items of the following two lists and suggest the correct code

List -1

a.  Pay-back Rate of Return
b.  Internal Rate of Return
C. Benefit Cost Ratio
d. Net Terminal Value Method
Codes :

a b c d
(A) i1 il i iv
(B) iii i v il
<©) i iv i i
D) iv i il i

—— e

~ List = I‘l . (

Dlscosin Cash ow gchmque

rude meth

values (f investments
returns

for project evaluation

Varying siged projects evaluation

33. Match the items of the following two lists and suggest the correct code :

a.
<% ‘b"}

(-

%W d
ol

LlS -1

Codes :

a b c
(A) iv i il
B) i v i
©) i i v
D) i i il

il

v

1)

Realised yield meih'od

Taxation ‘,'
Cost of totdl cdpital employed

Dividend growth is a consideration

List - 11
Cost of equity share capital
Cost of equity capital
Cost of debt capital
Weighted cost of capital
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30. TRITR (R 3ifac, Tl fHoree #t FHeiiid s &, St qead: i €
(A) T IRE (B) A HRehi

(C) TR i TJuTaT (D) fosmo=

31. &A1 : UST eran 9 Ae9d & it Y S GET |
HU — I : 79 TiTeTd & THar 3797 USt, Jatsht 3797 Ot SHores, Tt 0T 3 T 9= |
(A) o [ 3R H 1L 91 Tel & |
(B) &= [ W& ¢ fohe] o [17TeTaT & |
(C) o 17Teid & Toheg o I T & |
(D) ST e T €

32. TefeIRad AT giemt st gafeld HisT 3] 98t % 9T

-1 ‘g
a. SO T TTHROT ST i.

b. TG T HdNEH T ii.

c. M- U .

d. 5 Al god woTett v,

E T

a b c d
(A) i1 il i iv
(B) iii i v il
<©) i iv i i
D) iv i i i

33. Tfefad 31 giest st gafeld ST i) 98t % 9T

-1 % 10 et - 11
a. g @ mﬁa%@a i T ST OS h ArT
Tl wum 3 ii. T ST R ST
(. FA SStlyeR! ST iii.  ROT Ui AN
AT g IX foram iv. ST Sl 9Rifsh T

(A) iv i i i
@) i iv i iii
©) i i iv i
M) i i i iv
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34. Cash Flow Management involves :
L Lock-box system
II.  Marketable securities
III.  Playing the float

IV. Concentration Bank Account

Codes :
(A) I, I and III only (B) IL III and IV only
(C) L, IIIand IV only (D) I, 1l and IV only

35. Dividend capitalisation model was developed by
(A) Ezra Solomon (B) Myron J. Gordon
(C) James E. Walter (D) Merton H. Miller and Franco Mbdigliani

36. The process of narrowing a large number of candidates to a smaller field is called
(A) Rushing (B) Recruitment
(C) Selection (D) Enrollment

37. According to which theory, people are motivated to the extent to which they expect that
their actions will help in achievement of goals ?

(A) Vroom’s Vector Valence Theory (B) Need Theory
(C) ZTheory (D) X Theory

38. Match the items of List — I with List — II and select the correct code :
List-1, 3 4 List — II
a.  Getting Effec g f,éhdership in the i. Dale Yoder
Industrialf Organizati n
The j Nature <of Leadership, ii.  Alford and Beatty

b.
<% J Organiz Kld Management

( c.  Industrial Management iii.  Douglas McGregor
. d.  Personnel Management iv.  Chester I. Bernard
‘Codes :

a b c d
(A) i i i iv
B) i v il i
(C) i v i ii
D) iv i il i
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34. UHS VAR TEHT | WA & :
I g Jomet
II.  faska g wiayfaat
[ T T (TR T Felie)
IV. 999 a9 @
E T
(A) FHaA L I1 3 111 (B) e 1L, 111 3R IV
(C) ot I, III 3 IV (D) FHeeA L, I1 3R IV
35. AT YSTeRRoT Hiee faeptad forar mar o
(A) TS QAw g (B) o S A g
(C) T3 deel g1 (D) TeH U=, e 3K thehl AISelTT gRT
36. 3NATIFT I TS TEAT HT HH H BN TS H RS e bt UfsHAT Sl Fgl ST &
(A) = (B) et
C) =aq (D) HTHERA
37. fo9 fogT o STF9R, WM %3 85 % URd &I ¢ S99 3 3T X & fof 37k St & o1 e
X § TeT fer 2
(A) 99 T dFRX doid TFgTd (B) STavaehdl I 5T
(C) = fasid (D) T T
38. gt — I 3R gt — I1 i GHIT HINTT ST Tel e BT T BT
-1 {2 -1
a. SR ﬁﬂéﬁaawm i SeAsT
=Ly T, ; ﬁrwaﬁ%ﬁ ii. RS UUS S
(c. s \ i, sTeR T
. d.  wHE iv. =R AE S
E T

A i i i v
B) i iv i i
©) iii iv i i

D) iv i il i
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39. Match the items of List — I with List — II :

a.
b.
c.

d.

List -1
AITUC

BMS

INTUC
CITU

il.

iii.

1v.

List - IT
Indian National Congress
Socialists
Rashtriya Swayamsevak Sangh
Communist Party of India

Identify the correct combination :

Codes :

(A)
(B)
©
D)

iv

1

il

i1

i1

il

11
il

il

40. The main characteristics of Weber’s bureaucracy are :

(A) Specialization
(C) System of rules

(B) Hierarchy of authority
(D) All of the above

41. Match the items of List — I with List — II :

«:‘3‘_.} Estab#s

. _
List - I'™ . List - IT

RBI Nationaljza 1. 1964

Imperial Bank (atlo 1zation . 1949

Nationalization o‘r}l Commercial Banks 1ii. 1955

s

nt of IDBI

iv. 1969

Identify the correct combination :

Codes :
a
(A) i
B) ii
(C) iii
(D) ii

b
il
il
il

1
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39. et — 1 3R gl — 11 ot GHferd HifT

=i - 1

a. TIE .‘éf.{.ﬂ“r.

b. diTHUd,

c. SMETAAIHL

d. ey

TE B H TG HIT :

E T

(A) 1v
B) iv
©) 1v
D) iv

1

1

i1

il

il

i.

il.

iii.

1v.

il
ii

il

it - 11

TRAT T BT

EEISCIM]

LR WS TG
IRATT HRE et

40. A D ABIME Feelt Fogia B g7 a9 &

(A) Tafereisror
(C) T7aw vomert

41. Gt — 1 O&T ot G — 11 3 |1 Gaferd & ;

1l.

1il.

1v.

(B) IR T URTHA
(D) SudeR ot

=t - 10
1964
1949
1955
1969
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42. As per the RBI Act, 1934, the following functions are described as the functions of a
Central Bank :

(i) Banking functions

(i) Advisory functions

(i1i1)) Supervisory functions

(iv) Promotional functions

Identify the correct combination :

(A) (1), (iii) and (iv) (B) (), (i) and (iv)
(C) (i), (ii1) and (iv) (D) Only (i) and (iii)

43. Phishing is an attempt to acquire :
(A) Loan from unauthorized firms
(B) Sensitive information such as username, password, etc.
(C) Personal information from banks

(D) None of the above

44. What is Call Money ?
(A) Money borrowed or lent for a day or overnight.
(B) Money borrowed for more than one day but upto 3 days.
(C) Money borrowed for more than one day but upto 7 days.

(D) Money borrowed for more than one day but upto 14 days.

45. The Regulatory Authority of Regional Rural Banks is
(A) NABARD (B) Central Government

(C) State Government (D) Sponsor Bank

46. Which of the following is not ensured to the consumer in the globalization ?
(A) Lower prices (B) Better selection

(C) Clear origin of goods and services (D) Improved services
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42. T/ S i ean afufam, 1934 % SR MR Fefeiad S Th H51g 5% & 5 €
() TR HFIE

(i) TR w

(iii)  3TacATHT B

(iv) Has HE

e e fafed &

(A) (), (iii) &R (iv) B) (i), (ii) W (iv)
(C) (i), (iii) 3T (iv) (D) ad (i) 31 (iii)

43. R H SZE T
(A) STATIHT FAT T FOT U HEAT |

(B) TR FEATE S TSR T A1, TIFeE 1S It BT |

(C) &l & AT G UTeT AT |
(D) ST | H HIg el

44, HA T FNL?
(A) TH GT e TaR & oTT YR < 718 g
(B) U g T 31fursh Afeh i fo e SR <t 18 gaifen
(C) U g ¥ fireh wifere |t 5 ep SR &1 T8 Gt
(D) U fe7 @ ifeeh Al Tiieg f&T T SUR <1 TE eI

45. &g UTHIOT Seh 1 M TR &
(A) AETS (B) % WHR
(C) T~F WHR (D) SWEE %

46. SRl § f=foiliad § 9@ i 91 SUHIST i 3T el Tl & 2

(A) FH T (B) Tl T
(C) oqall 3T Fasti &1 Tt A (D) gt Famd
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47. In international trade which of the following is a non-tariff trade barrier ?

(A) Quotas

(C) Export controls

(B) Import bans
(D) Anti dumping laws

48. Match the items of List — I with items in List — II and select a correct code :

List -1

a. Current Account

b.  Capital Account

c.  Unilateral Payments
d. Official Statement Account

Codes :

a b
(A) 1 iii
B) iv i
(©) iv i
(D) i il

49. Match the items of List — I with the items in List — IT and select a correct code :

List-1
a.  Vishesh Krishi Upaj Yojana 1‘(
4
b. EPCG ] 4 T
-—
C. DFRC 111.
s
% ]
d. DEPB ( e iv.
Codes :
a b C d
(A) iv i ii iii
B) iv il i ii
(C) i iv ii i
(D) iii i iv ii

c d
il v
i
il
i v

il.

1il.

1v.

&

List - II
Official Capital
Reserves from foreign countries
Reparations
Visible Exports and Import_s: {F

L) . _A

1

24
.!'ry.}

B i

Scheme inténded to reduce difficulties

of exporter

Duty Entitlement Pass Book

To boost exports of fruits, vegetables,

flowers, minor forest produce etc.

Relating to import of duty free fuel

50. Which of the following is not the agency of World Bank ?

(A) MIGA
(C) ADB

(B) ICSID
(D) IDA

www.examrace.com



47. IIAUEE SAUR | HEfaiEd B @ i 91 o Jed AR a9 € 2

(A)
©)

el
ERIGAEREN

(B) 31 uidqey
(D) ST et B

48. A — 1 AT A A — [1 0 A& GAfoTd Y 3R Tel F T8

(A)
(B)
©)
D)

T -1 = - 11
9Te] @ i emfuskiRes oSt
STt Tt i, foceh 9=
TS Ui A i, faser @ am .
TP T U9 v,  STdfoeh 3T Ue 4T ' {
a b c d
i i v
Y i il 1ii
v 1 1il il
1il 1l i v

49. g — [ T&T B AT — 11 S 781 % T AT BT SR TEl B B 99T B

a
b.

o

d.

E T

(A)
(B)
©)
D)

T -1

‘ =
foTe Y 3uST AT . < dcsfeh“l %rddISQi~$_°l?q T Tt AT I

ERCIR: ISR
S

a b c
v i ii
iv il i
i v il

i v

iy 4 YHR T

1. o, Tiewat, %el, B SHTel UgTet & faid =i s o

-;:kv 3o Yo S8 & ST § Hatad

d

1
i1
1

il

50. Tr=feiiad & 9 i 9 forger 5o ot TsiE! 81 & 2

(A)
©)

TH.IME ST,
T

(B) AW TEIET.
(D) I
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